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Directions (1-5): In these questions, relationship between different elements is shown in the 

statements. These statements are followed by two conclusions.  

Mark answer as 

(a) If only conclusion I follows.  

(b) If only conclusion II follows.  

(c) If either conclusion I or II follows.  

(d) If neither conclusion I nor II follows.  

(e) If both conclusions I and II follow.   

 

Q1. Statements:  M ≥ N > Q, Q < R, S = R 

Conclusions: I. M > R           II. S > Q  

 

Q2. Statements: F = A > B = C ≥ D, E ≥ D 

Conclusions: I. F ≥ E             II. E < F  

 

Q3. Statements:  M ≤ N < Q, S ≥ R ≤ Q 

Conclusions: I. R > N            II. N < S  

 

Q4. Statements:  B ≥ A, C < D < A, C ≤ O 

Conclusions: I. D < A            II. A > C  

 

Q5. Statements:  M > N ≥ Q, S = R = Q 

Conclusions: I. N > S            II. N = S  

 

Directions (6-10): Study the information carefully and answer the questions given below. 

 

Twelve persons are sitting in two parallel rows consisting of six persons each. A, I, C, F, H and D are sitting 

in row 1 and are facing south. J, E, K, G, L and B are sitting in row 2 and are facing north. I faces E and none 

of them sits at any end. Two persons sit between C and A, who sits at one of the ends. J sits second from 

one of the ends. L sits at one of the positions to the left of B, who does not face C. F sits at one of the positions 

to the right of H. Neither L nor B faces A.  C is neighbor of the one who 

faces G. Three persons sit between J and B. H doesn’t sit at any extreme 

end. More than one person sit between H and F. 

 

Q6. Who among the following faces B? 

(a) I 

(b) F 

(c) C 

(d) D 

(e) none of these 
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Q7. Which among the following pair of persons represents the immediate neighbor of I? 

(a) C, H 

(b) F, C 

(c) C, A 

(d) D, A 

(e) none of these 

 

Q8. Four of the following belongs to a group find the one that does not belong to that group? 

(a) E 

(b) F 

(c) C 

(d) B 

(e) H 

 

Q9. In a certain way A is related to E, C is related to B, then who among the following is related to G? 

(a) A 

(b) F 

(c) C 

(d) H 

(e) none of these 

 

Q10. Who among the following faces the one who is 3rd right L? 

(a) A 

(b) F 

(c) I 

(d) C 

(e) no one  

 

Directions (11-15): Study the following information to answer the given questions. 

 

Eight students I, F, L, E, Y, S, T and K are sitting around a square table in such a way four of them sit at four 

corners while four sit in the middle of each of the four sides. The one who sits at the corners faces the center 

and while rest of them are facing outside. 

I who faces the center sits third to the left of S. Y who faces the center is not an immediate neighbour of S. 

Only one person sits between S and T. E sits second to right of F who faces the center. L is not an immediate 

neighbour of I. 

 

Q11. Which of the following does not belong to the group? 

(a) F 

(b) L 

(c) Y 

(d) E 

(e) I 
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Q12. Who sits to the immediate left of L? 

(a) F 
(b) K 

(c) Y 
(d) E 

(e) I 
 

Q13. What is the position of T with respect to L? 
(a) Third to the right 

(b) Second to the left 
(c) Second to the right 

(d) Fourth to the right 
(e) None of these 

 

Q14. Who sits third to the left of F? 
(a) K 

(b) I 
(c) T 

(d) S 
(e) None of these 

 
Q15. Which is true according to the given arrangement? 

(a) T faces the center 
(b) F faces outside 

(c) K faces center 

(d) I faces the center 
(e) None of these 

 
Directions (16-20): In each of the questions given below three statements are followed by some 

conclusions. You have to take the given statements to be true even if they seem to be at variance 
from commonly known facts. Read all the conclusions and then decide which of the given 

conclusions logically follows from the given statements disregarding commonly known facts. 
 

Q16. Statements:  
Some red is blue 

No blue is pink 

Some pink is yellow 

Conclusions:         

I. Some yellow can never be blue 
II. No red is pink. 

(a) Both I and II follow 
(b) Either I or II follows 

(c) Only II follows. 
(d) Only I follows. 

(e) Neither I nor II follows  
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Q17. Statements: 

No man is woman 

No woman is girl 

No girl is boy                            

Conclusions: 

I. No man is girl 

II. No woman is boy 

(a) Both I and II follow 

(b) Either I or II follows 

(c) Only II follows. 

(d) Only I follows. 

(e) Neither I nor II follows  

 

Q18. Statements:  

I. All laptop are bottle 

II. All bottle are bag 

III. No bottle is desk 

Conclusions: 

I. Some desk can never be laptop 

II. Only bag are laptop  

(a) Both I and II follow 

(b) Either I or II follows 

(c) Only II follows. 

(d) Only I follows. 

(e) Neither I nor II follows  

 

Q19. Statements:  

Some alpha is beta 

Some beta is phi 

All beta is gamma                                           

Conclusions:    

I. No phi is alpha 

II. some phi is alpha 

(a) Both I and II follow 

(b) Either I or II follows 

(c) Only II follows. 

(d) Only I follows. 

(e) Neither I nor II follows    

 

Q20. Statements: 

I. No mobile is eraser 

II. Some eraser is black 

III. All black is pen                                    
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Conclusions:  
I. Some mobile can never be eraser 
II.  Some black can never be mobile 
(a) Both I and II follow 
(b) Either I or II follows 
(c) Only II follows. 
(d) Only I follows. 
(e) Neither I nor II follows 
 
Directions (21-23): Study the following information and answer the given questions. 
 
In a family of eight members there are four male members. J is grandfather of L. M is the brother of L. J has 
only two children one of them is unmarried. P is sister-in-law of S. K is paternal grandmother of M. S is 
daughter of K. Q is the Son of G and brother of L. G is not son-in- law of K.  
 
Q21. How is G related to K? 
(a) Son 
(b) Daughter 
(c) Mother 
(d) Brother 
(e) Either (a) or (b)  
 
Q22. How is L related to S? 
(a) Aunt 
(b) Nephew 
(c) Niece 
(d) Sister 
(e) Cannot be determined 
 
Q23. How is P related to M? 
(a) Sister 
(b) Aunt 
(c) Grandmother 
(d) Mother 
(e) None of these 
 
Q24. There are five persons i.e. P, Q, R, S and T. If S is shorter than 
T and P. Q is taller than T, who is not the taller than P. Q is taller 
than only two persons. P is not the tallest, then who is the third 
tallest person among all? 
(a) P 
(b) S 
(c) Q 
(d) R 
(e) None of these 
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Q25. In a row of students facing North, Piya is 16th from the left end. Nine students sit between Piya 

and Riya, then what could be the minimum number of students possible to be in the row if Piya does 

not sit at any end? 

(a) 16  

(b) 17 

(c) 25 

(d) 26 

(e) Cannot be determined 

 

Directions (26-30): Study the information carefully and answer the questions given below. 

 

Eight persons are living in a multi floored building such that the lowermost floor is numbered one, the floor 

just above it is numbered two and so on till the topmost floor numbered eight. B lives on an odd numbered 

floor below floor 5. G lives on one of the floors below E but above D. C lives immediately above F. At least 

two persons sit between G and D. Four persons live between F and H. Two persons live between B and A. 

 

Q26. How many persons are living between B and D? 

(a) Two 

(b) One 

(c) Three 

(d) Four 

(e) None of these 

 

Q27. On which of the following floors does E live? 

(a) 5th  

(b) 6th  

(c) 2nd  

(d) 3rd  

(e) none of these 

 

Q28. Four of the following belongs to a group find the one that does not belong to that group? 

(a) EG 

(b) FA 

(c) CF 

(d) BH 

(e) GD 

 

Q29. Who among the following lives on the topmost floor? 

(a) E 

(b) F 

(c) C 

(d) B 

(e) none of these 
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Q30. Who among the following lives just above G? 
(a) E 
(b) F 
(c) C 
(d) B 
(e) none of these 
 
Directions (31-35): Study the following information to answer the given questions 
In a certain code  
 
'save seed up force' is written as 'lp pk ks st',  
' grow seed up men' is written as 'ir ks fu lp'. 
'force life grow jab' is written as 'gt ir gb pk'  
'up vital life strong' is written as 'gt xz lo ks' 
 
Q31. What is the code for 'vital'?  
(a) gt    
(b) xz   
(c) lo   
(d) ks   
(e) Cannot be determined 
 
Q32. Which of the following may represent 'men is seed'?  
(a) fu lp st   
(b) fu py lo  
(c) re lp gt   
(d) fu xz re    
(e) lp re fu 
 
Q33. ‘pk’ is the code for 
(a) up   
(b) force   
(c) seed   
(d) life   
(e) Cannot be determined 
 
Q34. What is the code for' save'?  
(a) lp    
(b) pk   
(c) st    
(d) ks   
(e) Cannot be determined 
 
Q35. Which of the following represents 'life the seed'? 
(a) in gt lp   
(b) ni gt st   
(c) ir gt lo  
(d) pk ir gt   
(e) gt pk lp  


